

Find all excluded Values:

1)
$$\frac{2\chi^3}{3\chi+4}$$
 Devo. = 0, Solve

2) $\frac{-8\chi}{5\chi-8}$
 $3\chi+4=0$
 $3\chi=-4$ E.V. $-\frac{4}{3}$

3) $\frac{2\chi-5}{\chi^2-5\chi-6}$
 $\chi^2-5\chi-6=0$
 $\chi^2-6=0$
 $\chi=6$
 $\chi=6$
 $\chi=6$
 $\chi=1$

E.V. $6\xi-1$

Simplify:
1)
$$\frac{-32}{40}\frac{\chi^{12}}{\chi^{3}} = \frac{-4}{5}\frac{\chi^{9}}{5}$$

2) $\frac{82-24}{42-12} = \frac{2}{8(2-3)}$
 $\frac{-4}{5}\frac{\chi^{9}}{5}$
3) $\frac{9\chi^{2}-4}{9\chi+6} = \frac{(3\chi+2)(3\chi+2)}{3(3\chi+2)}$
 $=\frac{(3\chi)^{2}-2^{2}}{9\chi+6} = \frac{(3\chi+2)(3\chi+2)}{3(3\chi+2)}$
 $=\frac{3\chi-2}{3}$
 $=\frac{3\chi-2}{3}$
 $=\frac{\chi-1}{\chi-1}$

Consider the vational expression
$$\frac{2x^2 - 3x - 5}{2x^2 - 7x + 5}$$
1) find all excluded values
$$2x^2 - 7x + 5 = 0 \qquad x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{-(7) \pm \sqrt{9}}{2(2)}$$

$$a = 2 \qquad b = -7 \qquad C = 5$$

$$b^2 - 4ac = (-7)^2 - 4(2)(5) = 9 \qquad = \frac{7 \pm 3}{4} \qquad x = \frac{7 + 3}{4} \qquad x = \frac{7 - 3}{4}$$

$$= \frac{5}{2} \qquad = 1$$
2) Reduce the expression
$$\frac{2x^2 - 3x - 5}{2x^2 - 7x + 5} = \frac{(2x - 5)(x + 1)}{(2x - 5)(x - 1)}$$

$$= \frac{x + 1}{x - 1}$$

1)
$$\frac{5x-15}{3x+9} \cdot \frac{4x+12}{6x-18}$$

$$= \frac{5(x-3)}{3(x+3)} \cdot \frac{2}{3(x+3)} \cdot \frac{2}{3(x+3)} = \frac{(x+2)(x-2)}{8} \cdot \frac{x+2}{8}$$

$$= \frac{(x+2)(x-2)}{9} \cdot \frac{x+2}{8}$$

$$= \frac{(x+2)(x-2)}{2} \cdot \frac{x+2}{8}$$

$$= \frac{(x+2)(x-2)}{2} \cdot \frac{x+2}{8}$$

Simplify:
1)
$$\frac{2x^2 + 7x + 3}{x^2 - 9}$$
. $\frac{x^2 - 3x}{2x^2 + 11x + 5}$ | $\frac{2}{x^2}$ $\frac{2x^2 - 5x - 12}{x^2 - 10x + 24}$ $\frac{4x^2 - 9}{x^2 - 9x + 18}$ | $\frac{(2x + 1)(x + 3)}{(x + 3)(x - 3)}$ | $\frac{x(x - 3)}{(x + 3)(x + 5)}$ | $\frac{2x^2 - 5x - 12}{x^2 - 10x + 24}$ | $\frac{x^2 - 9x + 18}{4x^2 - 9}$ | $\frac{x}{(x + 3)(x - 3)}$ | $\frac{x}{(x + 4)(x + 6)}$ | $\frac{x}{(x + 3)(2x - 3)}$ | $\frac{x}{(x +$

1)
$$\frac{\chi+2}{\chi+3} + \frac{1}{\chi+3}$$

$$= \frac{\chi+2+1}{\chi+3} = \frac{\chi+3}{\chi+3} = \boxed{1}$$

1)
$$\frac{\chi+2}{\chi+3} + \frac{1}{\chi+3}$$
 2) $\frac{2\chi-5}{\chi-4} = \frac{\chi-4}{\chi-4} = \frac{\chi-4}{\chi-$

3)
$$\frac{\chi^{3}}{\chi^{2}-9} - \frac{3\chi^{2}}{\chi^{2}-9}$$

$$= \frac{\chi^{3}-3\chi^{2}}{\chi^{2}-9} = \frac{\chi^{2}(\chi^{3})}{(\chi^{3})(\chi^{4})} = \frac{\chi^{2}+2\chi}{\chi^{2}-4}$$

$$= \frac{\chi^{2}}{\chi^{4}} - \frac{\chi^{2}}{\chi^{2}-4} = \frac{\chi^{2}(\chi^{4})}{(\chi^{2}-2)(\chi^{4})}$$

$$4) \frac{\chi^{2}}{\chi^{2}-4} + \frac{2\chi}{\chi^{2}-4}$$

$$= \frac{\chi^{2}+2\chi}{\chi^{2}-4}$$

$$= \frac{\chi(\chi+2)}{(\chi-2)(\chi+2)} = \frac{\chi}{\chi-2}$$

5)
$$\frac{5}{x-2} - \frac{3}{x+4} = \frac{5(x+4)}{(x-2)(x+4)} - \frac{3(x-2)}{(x+4)(x-2)}$$

$$= \frac{5(x+4) - 3(x-2)}{(x-2)(x+4)}$$

$$= \frac{5x+20-3x+6}{(x-2)(x+4)}$$

$$= \frac{2x+26}{(x-2)(x+4)} = \frac{2(x+13)}{(x-2)(x+4)}$$

6)
$$\frac{\chi}{\chi - 8} = \frac{2}{\chi + 6}$$

$$= \frac{\chi(x+6)}{(x-8)(x+6)} = \frac{2(x-8)}{(x+6)(x-8)}$$

$$= \frac{\chi(x+6) - 2(x-8)}{(x-8)(x+6)} = \frac{\chi^2 + 6\chi - 2\chi + 16}{(x-8)(x+6)}$$

$$= \frac{\chi^2 + 4\chi + 16}{(x-8)(x+6)}$$

Simplify
$$\frac{3}{\chi^{2} + 3\chi - 4} = \frac{2}{\chi^{2} + 7\chi + 12}$$

$$= \frac{3(\chi + 3)}{(\chi + 4)(\chi - 1)(\chi + 3)} = \frac{2(\chi - 1)}{(\chi + 4)(\chi - 1)(\chi + 3)}$$

$$= \frac{3(\chi + 3) - 2(\chi - 1)}{(\chi + 4)(\chi - 1)(\chi + 3)} = \frac{3\chi + 9 - 2\chi + 2}{(\chi + 4)(\chi - 1)(\chi + 3)}$$

$$= \frac{\chi + 11}{(\chi + 4)(\chi - 1)(\chi + 3)}$$

Simplify:
$$\frac{6}{\chi^2 + 3\chi} - \frac{1}{\chi^2 - \chi} + \frac{2}{\chi^2 + 2\chi - 3}$$

$$= \frac{6(\chi - 1)}{\chi(\chi + 3)(\chi - 1)} - \frac{1(\chi + 3)}{\chi(\chi - 1)(\chi + 3)} + \frac{2\chi}{(\chi + 3)(\chi - 1)\chi}$$

$$= \frac{6(\chi - 1)}{\chi(\chi + 3)(\chi - 1)} - \frac{1(\chi + 3)}{\chi(\chi + 3)(\chi - 1)} + \frac{2\chi}{\chi(\chi + 3)(\chi - 1)}$$

$$= \frac{7\chi - 9}{\chi(\chi + 3)(\chi - 1)}$$

Complex Fraction! It is a Straction that
Contains at least one Straction

$$\frac{2-\frac{1}{4}}{\frac{1}{2}} \qquad \frac{4+\frac{1}{\chi}}{2-\frac{1}{\chi}} \qquad , \qquad \frac{\frac{\chi}{4}-\frac{4}{\chi}}{\frac{\chi}{2}+\frac{1}{2}}$$

To Simplify a Complex Fraction

1) Find LCD of all denominators.

2) Multiply everything by the LCD. 3) Simplify, Simplify, Simplify.

Simplify
$$\frac{3-\frac{1}{4}}{1+\frac{1}{2}} = \frac{4\cdot3-4\cdot\frac{1}{4}}{4\cdot1+\frac{1}{2}}$$

$$\frac{12-1}{4+2} = \frac{11}{6}$$
Simplify: $\frac{2}{5} - \frac{1}{3} = \frac{3}{5\cdot\frac{2}{5} - \frac{1}{5\cdot\frac{1}{3}}} = \frac{6-5}{3+10} = \frac{1}{13}$

$$\frac{1}{5} + \frac{2}{3} = \frac{1}{5\cdot\frac{1}{5}} + \frac{1}{5\cdot\frac{2}{3}} = \frac{6-5}{3+10} = \frac{1}{13}$$

$$\frac{1}{5} + \frac{2}{3} = \frac{1}{3} = \frac{1}{3$$

Simplify:
$$\frac{\chi - \frac{4}{\chi}}{1 + \frac{2}{\chi}} = \frac{\chi \cdot \chi - \chi \cdot \frac{4}{\chi}}{\chi \cdot 1 + \chi \cdot \frac{2}{\chi}}$$

$$= \frac{\chi^2 - 4}{\chi + 2}$$

$$= \frac{(\chi + 2)(\chi - 2)}{\chi + 2}$$

$$= \frac{\chi - 2}{\chi - 2}$$

Simplify:
$$\frac{2}{x-1} + 2$$
 $(x-1) \cdot \frac{2}{x-1} + (x-1) \cdot 2$ $\frac{2}{x-1} - 2$ $(x-1) \cdot \frac{2}{x-1} - (x-1) \cdot 2$ $\frac{2}{x-1} - 2$ $(x-1) \cdot \frac{2}{x-1} - (x-1) \cdot 2$ $\frac{2}{x-1} - 2$ $\frac{2}{x-1} + 2$ $\frac{$

Simplify
$$1 + \frac{4}{\chi} + \frac{3}{\chi^{2}}$$

$$1 - \frac{9}{\chi^{2}}$$

$$2 - \frac{(\chi + 3)(\chi + 1)}{(\chi + 3)(\chi - 3)} = \frac{\chi + 1}{\chi - 3}$$

Simplify
$$\frac{3}{2^{-3}} - \frac{2}{x+2} = \frac{3}{x-3} - \frac{2}{x+2}$$

$$\frac{1}{x^2 - x - 6} = \frac{3}{(x-3)(x+2)}$$

$$= \frac{3(x+2) - 2(x-3)}{1} = \frac{3x+6-2x+6}{1} = \frac{x+12}{1}$$

Simplify
$$\frac{4-9x^2}{2+3x^{-1}}$$
 Recall $x^{-1} = \frac{1}{x^n}$

$$= \frac{4-\frac{9}{x^2}}{2+\frac{3}{x}} = \frac{4x^2-9}{2x^2+3x} = \frac{(2x+3)(2x-3)}{x(2x+3)}$$

$$= \frac{2x-3}{x}$$

$$= \frac{2x-3}{x} = \frac{2-3}{x}$$

$$= \frac{2-3}{x} = \frac{1}{x}$$

Simplify: Recall
$$\sqrt{\frac{n}{2}} = \frac{1}{\chi^{n}}$$

$$\frac{6 + 11 \chi^{-1} - 10 \chi^{-2}}{3 - 14 \chi^{-1} + 8 \chi^{-2}} = \frac{6 + \frac{11}{\chi} - \frac{10}{\chi^{2}}}{3 - \frac{14}{\chi} + \frac{8}{\chi^{2}}}$$

$$= \frac{6 \chi^{2} + 11 \chi - 10}{3 \chi^{2} - 14 \chi + 8} = \frac{(3\chi^{-2})(2\chi + 5)}{(3\chi^{-2})(\chi - 4)}$$

$$= \frac{6 \chi^{2} + 11 \chi - 10}{8 \chi^{2} + 11 \chi - 10} = \frac{2\chi + 5}{\chi - 4}$$

$$= \frac{2\chi + 5}{\chi - 4}$$

$$= \frac{2\chi + 5}{\chi - 4}$$

$$= \frac{3\chi(2\chi + 5) - 2(2\chi + 5)}{3\chi(2\chi + 5) - 2(2\chi + 5)} = (2\chi + 5)(3\chi - 2)$$

Solve:
$$\frac{\chi}{2} - \frac{1}{3} = \frac{5}{6}$$
 $6 \cdot \frac{\chi}{2} - 6 \cdot \frac{1}{3} = 6 \cdot \frac{5}{6}$

Len=6 $3\chi - 2 = 5$

$$3\chi = 7$$

$$\chi = \frac{7}{3} \Rightarrow \begin{cases} \frac{1}{3} \end{cases}$$
Solve $2 - \frac{4}{\chi} = 5$ $2\chi - 4 = 5\chi$

$$2\chi - 5\chi = 4$$

$$-3\chi = 4$$

$$\chi = -\frac{4}{3}$$

Solve
$$1 + \frac{1}{\chi} = \frac{30}{\chi^2}$$
.
LCD = χ^2
 $\chi^2 + \chi = 30$
 $\chi^2 + \chi - 30 = 0$
 $(\chi + 6)(\chi - 5) = 0$
by Z.F.P. $\chi + 6 = 0$ $\chi - 5 = 0$
 $\chi = -6$ $\chi = 5$

Solve!
$$6 = \frac{7}{\chi} + \frac{3}{\chi^2}$$

 $120 = \chi^2$
 $120 = \chi^$

Solve
$$\frac{3}{x+3} - \frac{2}{x-3} = \frac{-15}{x^2-9}$$

LCD = $(x+3)(x-3)$
 $3(x-3) - 2(x+3) = -15$
 $3x - 9 - 2x - 6 = -15$
 $x - 15 = -15$
 $x - 15 = -15$

The area of a rectangular shape is
$$70 \text{ St}^2$$
.

The length is 1 St shorter than 3 times its width.

Find its dimensions.

 $A = 70$
 $LW = 70$
 $\chi(3\chi-1) = 70$
 $3\chi-1$
 $\chi(3\chi-1) = 70$
 $3\chi^2 - \chi - 70 = 0$
 $3\chi^2 - \chi - 70 = 0$
 $\chi = \frac{-b \pm \sqrt{b^2 + 4\alpha c}}{2\alpha} = \frac{-(-1) \pm \sqrt{841}}{2(3)} = \frac{1 \pm 29}{6}$
 $\chi = \frac{1 \pm 29}{6}$
 $\chi = \frac{1 + 29}{6}$
 $\chi = \frac{1 - 29}{6} = \frac{28}{6}$
 $\chi = \frac{1 - 29}{6} = \frac{28}{6}$
 $\chi = \frac{1 + 29}{6}$
 $\chi = \frac{1 - 29}{6} = \frac{28}{6}$
 $\chi = \frac{1 + 29}{6}$
 $\chi = \frac{1 - 29}{6} = \frac{28}{6}$
 $\chi = \frac{1 + 29}{6}$
 $\chi = \frac{1 - 29}{6} = \frac{28}{6}$

